PHYSIOLOGY EXAM 6 2003
1. Which of the following functions will not be affected if the hypophysis (anterior & posterior) is removed ?

A. Water balance

B. Response to physical stress

C. Plasma glucose.

D. Basal metabolic rate.

2. In the male, FSH will:

A. decrease rate of spermatogenesis.

B. increase synthesis of inhibin by sertoli cells.

C. increase synthesis of androgens by leydig cells.

D. increase release of GnRH.

3. Which of the following general hormonal actions is not common to both the human male and female ?

A. Negative feedback of inhibin upon the release of FSH.

B. Stimulation of the release of FSH & LH by pituitary GnRH.

C. LH stimulation increasing production of hormones from target organs.

D. Precise levels of estrogen, LH and light combining to significantly increase LH release

4. ACTH: 

A. Stimulates the release of CRH.
B. Stimulates the synthesis and release of aldosterone.
C. Release is increased in the presence of elevated corticosterone levels.

D. Release is increased during stress free periods.

5. Which of the following will be below normal in a patient presents with an ACTH secreting tumor ?

A. Plasma corticosterone levels.

B. Glucose synthesis.

C. Plasma insulin levels.

D. Protein synthesis.
6. Increasing the volume of secretions from the posterior pituitary will:
A. result in a diuresis. 

B. Increase blood pressure.

C. increased synthesis of breast milk.

D. inhibition of uterine contractions.

7. If a patient presents with prognathism, enlarged hands & feet and coarse facial features, there is a high probability that they will also have:

A. hyperglycemia. 

B. visual changes.

C. lactation.

D. All of the above choices (a, b & c) are correct.

8. HGH (STH):
A. usually acts directly of target tissues.

B. release is stimulated during hyperglycemia.
C. acts indirectly (through IGF-I & IGF-II) on the target tissues.

D. acts to inhibit the actions of ACTH, LH, TSH & FSH.

9. Which of the following statements is TRUE ?

A. Graves' disease is always accompanied with exopthalmos.

B. Exopthalmos has the exact same etiology as does Graves' disease.

C. Graves' disease results from an-immune system attack on TSH receptors from the presence of TSI.

D. TSH levels are increased above normal in the presence of TSI.

10. T3 and/or T4 mediate all of the following EXCEPT:

A. hyperglycemia.

B. increased protein synthesis.

C. cholesterol & phospholipids catabolism.

D. increased liver & muscle glycogen.

11. Which of the following compounds prevent oxidation of iodide to iodine ?

A. Thiourea

B. Thiouracil.

C. Thiocyanate.

D. Thyroxin.

12. If there is development of an immune reaction to thyroglobulin, then:

A. hypothyroidism will result.

B. Hashimoto's disease will be effectively cured.

C. hyperthyroidism will result.

D. plasma TSI titers will increase to abnormal levels.
13. Which of the following reactions takes place within the follicular colloidal fluid of the thyroid gland ?

A. Proteolytic enzyme hydrolysis of the thyroglobulin complex, forming T3 & T4.
B. Formation of thyroid peroxidase enzyme.

C. Oxidation of I- to I2.

D. Uptake of iodide.

14. Which of the following will be reduced in patients with pathologic, chronic hyperthyroidism ?

A. Pulse rate.

B. Cardiac output.

C. Body weight.

D. Volume of urine voided.

15. Hypothyroidism in the fetus results in:
A. abnormal encephalograms

B. retards cortical development.

C. delays nerve cell maturation.

D. All of the choices (a, b & c) are correct

16. In the adult, hypothyroidism:

A. results in the accumulation of extracellular fluid (myxedema).

B. effects a significant reduction in renal function.

C. results in a subnormal BMR.

D. All of the choices (a, b & c) are correct.

17. Which, of the following symptoms that are associated with diabetes, is the most important to the practicing physician ?
A. Polyuria

B. Polydipsia

C. Increased protein catabolism & decreased ability to heal wounds.

D. Hyperlipemia and consequent ketonuria.

18. Insulin:

A. Release from pancreatic Beta cells occurs when the GLUT2 receptor complexes with glucose

B. acts with glucagon to depress fatty acid synthesis.

C. action is opposed by PTH & 1, 25 dihydroxycholecalciferol.

D. secretion is dependent upon the release of hypothalamic hormones.

19. In contrast to Type I diabetics, Type II diabetics:
A. have a high level of ketonuria.

B. are the result of impaired insulin release.

C. are the result of an autoimmune disease.

D. occur due to the absence of β cells.

20. Diabetogenic factors include:

A. hyperthyroidism.

B. excess circulating epinephrine.

C. obesity

D. All of the above choices (a, b & c) are correct.

21. 1,25 dihydroxycholecalciferol and PTH have similar actions with the EXCEPTION that only one of the two chemicals will:

A. increase plasma Ca2+.

B. increase renal Ca2+ reabsorption.

C. cause bone demineralization

D. None of the above
22. On which of the following does PTH have its primary action ?
A. Intestine

B. Kidney

C. Bone.

D. Other tissues. 
23. Which of the following statements is TRUE concerning a bilaterally parathyroidectomized experimental animal ?

A. Vitamin D2 administration can maintain Ca2+ & phosphate levels.

B. Plasma phosphate levels will fall & Ca2+ levels will increase.

C. Plasma [Ca2+] is raised.

D. Urine & fecal Ca2+ & phosphate concentrations rise.

24. A patient who presents with Trousseau's sign plus Chvostek's sign:

A. probably hypercalcemic.

B. is in hypernatremia.

C. gives clinical evidence for hypocalcemia.
D. has normal phosphate balance.

Matching: Match clinical condition (numbered item) with the correct descriptive phrase (lettered item).

25. _______Osteopetrosis


A. Deficient amount of Ca2+ in bone matrix

26. _______Osteoporosis


B. Imperfect collagen formation leading to the formation of brittle bones

27. _______Osteomalacia


C. Inability to reabsorb bone causing abnormally dense bone

28. _______Osteogenesis imperfect

D. Decreased mineral and protein matrix of one leading to decreased bone mass & strength

29. Which of the following statements is FALSE concerning serum Ca2+ & phosphate ?

A. Only approximately 5 mg % of the ionizable Ca2+ is responsive to PTH.

B. Serum lipids bind approximately 9 mg % of total serum phosphate.

C. All serum Ca2+ (10 mg %) is responsive to PTH.

D. Only approximately 3 mg % of ionizable phosphate is responsive to PTH.

30. Which of the following hormones acts exclusively via receptors located in the nucleus of the cell ?

A. ACTH. 
B. Estrogen.
C. TRH.
D. GHRH.
